sinx=-V3/2
x=p5/3+2PK, roe k - noboe uenoe
x=4p/3+2Pk, rge k - ntoboe uenoe

Cosx=1
x=0+2Pk, roe k - noboe uenoe

Cosx=0

x=p/2+2PK, raoe k - ntoboe uenoe
x=3p/2+2Pk, roe k - noboe uenoe
x=P/2+Pk

sinx=0

x=0+2Pk, roe k - noboe uenoe
x=p+2PKk, rge k - ntoboe uyernoe
x=Pk

sinx=-%

x=arcsin(-%)+2Pk, roe k - ntoboe uernoe

x=p-arcsin(-%)+2Pk, roe k - noboe
Lenoe

Cosx=%4

x=arccos(%)+2Pk, rge k - noboe uenoe

x=-arccos(¥%)+2Pk, rge k - ntoboe
uenoe

x=arcsin(’%)+2Pk, roe k - ntoboe uenoe
x=p-arcsin(’%)+2Pk, rge k - ntoboe
cosx="a

x=arccos(Va)+2Pk, rge k - nobo
x=-arccos(%2)+2Pk, rge k - nob

sinx=" CT\VC(\ 0 gzl:}
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